

78-87 ⇒ 9
 69-77 ⇒ 8
 59-68 ⇒ 7
 50-58 ⇒ 6
 -49 ⇒ 5

95

1. Reevaluate each of the following:

(a) $\int (3t-4)^5 dt = \frac{1}{6} (3t-4)^6 + C$

(c) $\int_1^0 (4x^4 - 7x^3 + 3x^2 - 2x) dx = \left[\frac{4}{5}x^5 - \frac{7}{4}x^4 + x^3 - x^2 \right]_1^0 = -\frac{5}{4} + \frac{7}{4} - 1 + 1 = -\frac{19}{20}$

(b) $\int_{\frac{\pi}{2}}^{\frac{\pi}{4}} \sin(x) dx = -\cos(x) \Big|_{\frac{\pi}{2}}^{\frac{\pi}{4}} = -\cos(\frac{\pi}{4}) + \cos(\frac{\pi}{2}) = -\frac{\sqrt{2}}{2} + 0 = -\frac{\sqrt{2}}{2}$

(d) $\int \frac{x^2}{x^4 - 2x^3} dx = \int \frac{1}{x^2 - 2x} dx = \int \frac{1}{x(x-2)} dx = \int \left(\frac{A}{x} + \frac{B}{x-2} \right) dx = \int \left(\frac{1}{2x} + \frac{1}{2(x-2)} \right) dx = \frac{1}{2} \ln|x| + \frac{1}{2} \ln|x-2| + C$

32

(e) $\int \tan^2(x) \sec^2(x) dx = \int u^2 du = \frac{1}{3} \tan^3(x) + C$

(g) $\int \frac{x+1}{x^2-2x-3} dx = \int \frac{x+1}{(x-3)(x+1)} dx = \int \frac{1}{x-3} dx = \ln|x-3| + C$

(f) $\int_{\frac{\pi}{2}}^{\frac{\pi}{4}} \sin^4(x) \cos(x) dx = \left[-\frac{1}{5} \sin^5(x) \right]_{\frac{\pi}{2}}^{\frac{\pi}{4}} = -\frac{1}{5} \left(\frac{1}{\sqrt{2}} \right)^5 + \frac{1}{5} = \frac{1}{5} \left(1 - \frac{1}{32} \right) = \frac{31}{160}$

(h) $\int_{-2}^3 (2x-5)(3x+1) dx = \int_{-2}^3 (6x^2 - 13x - 5) dx = \left[2x^3 - \frac{13}{2}x^2 - 5x \right]_{-2}^3 = 2(27) - \frac{13}{2}(9) - 15 - (-16 - 20 + 10) = 54 - \frac{117}{2} - 15 - (-16 - 20 + 10) = 39 - \frac{117}{2} + 32 = \frac{142-117}{2} = \frac{25}{2}$

32

$$(c) \frac{d}{dx} \int_0^{\frac{\pi}{6}} \frac{\sin(3x^2)}{\cos(2x)} dx = 0$$

$$(b) \frac{d}{dx} \int \tan(x^2+1) dx = \tan(x^2+1)$$

$$(a) \int \frac{d}{dx} (\sin(\sqrt{x})) dx = \sin(\sqrt{x}) + C$$

2. Use the Fundamental Theorem of Calculus to evaluate each of the following:

$$\begin{aligned} (i) \int_{20}^{13} x\sqrt{x^2-144} dx &= \frac{1}{2} \cdot \frac{3}{2} (x^2-144)^{3/2} \Big|_{20}^{13} \\ &= \frac{1}{2} \left[\frac{3}{2} (400-144)^{3/2} - (169-144)^{3/2} \right] \\ &= \frac{1}{2} \left[\frac{3}{2} (256)^{3/2} - (25)^{3/2} \right] \\ &= \frac{1}{2} \left[\frac{3}{2} (256 \cdot 16) - 125 \cdot 5 \right] \\ &= \frac{1}{2} \left[\frac{3}{2} (4096) - 625 \right] \\ &= \frac{1}{2} \left[\frac{3}{2} (12288) - 1250 \right] \\ &= \frac{1}{2} \left[36864 - 1250 \right] \\ &= \frac{1}{2} (35614) \\ &= 17807 \end{aligned}$$

$$(i) \int \frac{\sin^3(x^3)}{7x^2 \cos(x^3)} dx \quad u = \sin(x^3) \quad du = \cos(x^3) 3x^2 dx$$

$$\begin{aligned} &= \frac{3}{7} \int \frac{u^2}{du} \\ &= \frac{3}{7} \cdot \frac{1}{-2} \cdot u^{-2} + C \\ &= -\frac{3}{14} \sin^{-2}(x^3) + C \end{aligned}$$

116

Stack
15

31

$$\begin{aligned} \frac{7}{3} \int \frac{\cos u}{\sin^2 u} du &= \frac{7}{3} \int \cot u \csc^2 u du = -\frac{7}{3} \int u \\ &= -\frac{7}{3} u^2 + C \\ &= -\frac{7}{3} \cot^2 u \\ &= -\frac{7}{3} \cot^2(x) \end{aligned}$$

$$\begin{aligned} &= \frac{7}{3} \left(\csc^2(u) - \cot^2(u) \right) \\ &= \frac{7}{3} \left(\csc^2(x) - \cot^2(x) \right) \end{aligned}$$

$$\begin{aligned} \csc^2 x &= 1 + \cot^2 x \\ \csc^2 x &= \cot^2 x + 1 \end{aligned}$$